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QUESTION 1 [16 MARKS]

Write down the letter corresponding to the best option for each question in the answer
booklet/sheet provided.

1.1 What is the solution of this linear equation bx + ¢ =0

b € =g
A. X—7 B.x—; C.X—E D.X—T [2]
1.2 Which of the following is a rational number
A V2 B. V26 cm D. V17 [2]

1.35={1,23..10},A={2,4,6,8,10},B = {1,3,5,79}.€C = {25,7,}, D = {1}
Find n(B U C)

A. {1,2,5,7} B. {0} C.o D.5 (2]
1.4 If vector ( 2 ) = ( 2 )  determine the value of x
2=k 2x—3
A.5.1 B. impossible €. :—z D. 4 [2]
) _[4 6 1 o .
1.5 If matrix A = [2 8] = [0 1 , Find det(AI)
. 4 6
A.20 B.9 C. Matrix A D. [1 8] 2]
1.6 Find the HCF of 9, 11 and 10
A. None B.1 €.9 D.9and 10
1.7 Find the LCM of 9, 11 and 10
A. 99 B. 909 C. 990. D. 90 [2]

1.8 If VAT is 15%, a bag of cement cost NS 75.00 excluding VAT, How much will a bag

cost if you add VAT (2]
A. 86.25 B. 86.52 C. 25.86 D.11.25

o



QUESTION 2 [31] MARKS] (Clearly show all your work)

2.1 Solve the following linear equations

3_x
211 2x—>=1+1 (4]
212 3(2x—5)=7T (4]
242 21 -1, [4]
3 8

2.2 The national debt of Namibia is 70% of GDP. If GDP is $ 250 million. Find the national debt
and write your answer in floating decimal. [4]

2.3 A choir coordinator wants to divide the choir into smaller groups. There are 24 sopranos,
60 altos and 36 tenors. Each group will have the same number of each type of voice. What
is the greatest number of groups that can be formed and how many sopranos, altos and
tenors will be in each group? [9]

2.4 Evaluate the following,

(240+4)
2.4.1m+ 17—3(2)(2) [6]

QUESTION 3 [26 MARKS] (Clearly show all your work)

3.1 IfS$=1{1,2,3,456,7,89,10},B = {x*:x € N,x < 4},C = {3x:x € N,x < 4}
D = {0dd numbers less than 10}

Find

3.2.1n(B N D) (3]
3.2.2 D¢ (4]
323B®C (4]

3.24 (BUC)° [4]



3.2 Out of 360 students interviewed, it was found that 185 students speak Spanish (S),
55 students speak neither Spanish nor Portuguese. Furthermore, (x + 7) students
speak Portuguese (P) only and x speak both language

3.2.1 Draw a Venn diagram and show the information as given above on the Venn diagram

(5]

3.2.2 Solve for x (3]

3.2.3 Find the number of students who speak Spanish only. [3]

QUESTION 4[13 MARKS] (Clearly show all your work)

~[2 1 p_ _ :

IFA = [3 4],3 =24, C=A+B,Find

4.1 AB (4]

42 B+ C (4]

4.3 BA (8]

Question 5[11 MARKS] (Clearly show all your work)

5.1

5.2

Hage borrow N$ 500 000 to purchase furniture from a commercial bank, which offer
him 20% via simple interest, how much will he pays back if he is required to pay the
loan back after 5 years [5]

Hage borrow N$ 500 000 for debt consolidation from a commercial bank, which offer

him 20% compounded semi-annually, how much will he pays back if he is required to
pay the loan back after 5 years. [6]

END



